
☒ ☒
☒☒ ☒☒
☐•☒☒
☒☒ ☒☒

☐☐☐

☒☒☒ ☒☒ | ☐ ☐☐ ☒☒

☒☒
☒☒ ☒☒☒

hints
mirror board

☐ strategy
'

player B:
☐

maintain
"
mirror

" invariant

☐ ☐

☐ ☐

DDD
DDD



binary epresantaton n=3 bits

20=1 lmsigned representation fpositns)
21--2 Range -00--0 win-0

22=4 [0%7] 1- 1- 1- wax-1
323=8
24=16

5=21+1--23-2007125--32 =_E→I
2%64

22 21 2°

27--128
28--256 23%1--12110*+13110' +⑤
29=512 128--1

=&z7t+25t69
21%624 -22 f-⑥24+1.023+0022

+ ☒ 21 +D-2°



¢0000 00 Unsigned Costs
0 I 00 00

010 0 0

⑨ , • ☐

Rage§ : 2%] z=z
10

=[0 : 63]
71-9*1>-9+5¥Ñax(on 6 Sts)

t*°+¥i¥i¥=¥ ☒*⇐

HEL : 29-211-124 - I
- I
= 212

PMI ⑦+*
' +2+2 . - tan-DAB =

_¥#¥-¥¥EF¥
= Eh -1



7--10 Holt 104 103 t - - 1- 15
"

= 10¥
9. lol + 9 . 102 f- 9 . 103 + - -9 . 10

""

=k&
9 Max
90✓
go o✓
9000

9.
-
-
-
0 9 . If -1

¥9T wax Range is Sase to fo : 15-☐
↳ Lom -1



Binary search /concept)
Ghats Unresigned Range £0 63]

④☒⑤☒ me -22

pÉ%Éi⑧
= 0+-6%-32 Range -_ 0 - - - --ishalc3zYes!②

⇒more low Range -6:31)

§ÉbÉ
is valve? No
⇒ move high Range-fk :>☐

Raye - it - - - -

É=¥
i 3. Yes ! Range 010- --

IYI-Y.IE?IEoe=**iss.--I
is ualsso ? NO !

there high Raise-120 :zs]
Rouse 0.1--01 - •



"

÷I.¥



Poor 's man two 's implement 4 bits .

-5¥?
+s -
É!£→
¥0T



>bits unsigned 12--90.7-3

>bits R=[i÷B⇒④ EG

fished two's implement

-2 I 10
1- I1¥ :*
"

to
sign 1- negative

①=\>• setae



Tais complain 6 bits - - - - - R-[-32^131]
negate

-29 = ⑨ -0 -0 -0 I 1-

-25 21 2°

-32

- 12 1- -1 -0 -1--0 -0

-32 24 22
-25 ✗ -321-20=+2

fpy 2's coupGwent DEF Kt Gifts

b-KIKI b±z .
-
- § be =

= -•bk .2kt bky . 2kt t - t Si 21+420



110-1--11--1 IF,gmd 261-2723+24-206
266 22 = 641-321-81-4 t / =

= 109 ?

1101101 7FF
"
-2425+23+22+20

= -64+321-81-1<+1
- -19¥ +19=-0 -0-1=-0-1--1

flip I 1011002
1- I 11 01 10 I ✓


